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Winter Addition or Subtraction

Solve the following word problems.

John bought a winter jacket for $45.6 and a pair of
gloves for $12.3. How much did he spend in total?

Sarah made $25.4 by selling handmade scarves.
She spent $15.7 on supplies. How much profit did
she make?

Jack used 12.5 gallons of antifreeze in his car and
his brother’s car used 7.3 gallons more. How many
gallons of antifreeze were used in total?

A store sold 45.7 pounds of salt on Monday and
30.2 pounds on Tuesday. How many pounds of salt
did the store sell in total?

Emma had $50. She spent $23.6 on a winter hat
and scarf. How much money does she have left?

A ski resort received 15.6 inches of snow on
Saturday and 10.7 inches on Sunday. How much
snow did the resort receive in total?

A winter coat costs 45.6 dollars. During a sale, the
price of the coat was reduced by 15.7 dollars. How
much does the coat cost after the reduction?

A store sold 35.4 pounds of firewood on Friday and
25.7 pounds less on Saturday. How many pounds of
firewood did the store sell on Saturday?
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